Conformity – Multiple Choice Questions

1. Which of the following scenarios illustrates compliance?
A) John starts believing in a religion after attending meetings and practicing it consistently.  
B) Tim changes his behavior when his teacher instructs him to follow school rules.  
C) Sarah publicly supports her friends’ political views but privately disagrees.  
D) Emma conforms to the dress code of her workplace because she values the group.


2. Normative social influence is:
A) The influence to conform in situations where there is ambiguity.  
B) The influence to conform based on the desire to be right.  
C) The influence to conform based on the desire to be liked or accepted by others.  
D) The influence to conform due to the pressure from authority figures.


3. Compliance is best described as:
A) Changing behavior both publicly and privately in response to group norms.  
B) Changing behavior publicly while maintaining private beliefs.  
C) Changing behavior in response to a request from an authority figure.  
D) Changing personal beliefs to align with the majority permanently.


4. Informational social influence occurs when:
A) People conform because they want to be right and believe others have better information.  
B) People conform only when they are being observed by the group.  
C) People conform to avoid standing out and being disliked.  
D) People conform due to the fear of rejection by others.



5. Which of the following is an example of internalisation?
A) Pretending to agree with a group to avoid conflict.  
B) Agreeing with a group’s opinion only while they are present.  
C) Temporarily accepting a group’s belief system to gain approval.  
D) Adopting the group’s views and continuing to believe them even when not with the group.



6. Which type of conformity is most likely to involve a permanent change in personal beliefs?
A) Identification  
B) Internalisation  
C) Compliance  
D) Normative Social Influence



7. A person who adopts the behavior of a group because they believe the group is factually correct is most likely to be influenced by:
A) Identification  
B) Normative social influence  
C) Informational social influence  
D) Compliance



8. Identification involves:
A) Changing behavior and beliefs both publicly and privately to fit in with a group for a long period.  
B) Changing behavior and beliefs to fit in with a group temporarily, usually because you value the group.  
C) Changing behavior because of a direct order.  
D) Changing behavior but not beliefs to fit in with a group temporarily.



9. Which of the following is the best definition of conformity?
A) The tendency to change beliefs or behaviors due to real or imagined group pressure.  
B) The tendency to change beliefs or behaviors because someone in authority told you to.  
C) The tendency to change beliefs or behaviors in response to a direct request.  
D) The tendency to change beliefs or behaviors in order to avoid punishment.



10. Which of the following is most likely to result from normative social influence?
A) Compliance  
B) Identification  
C) Internalisation  
D) Informational social influence



Answer Key:

1) C  
2) C  
3) B  
4) A  
5) D  
6) B  
7) C  
8) B  
9) A  
10) A

